

# **Summary of Bids Received**

**Project:** 2011 Bike Path Re-Paving (Base Bid and Added Alternatives B & C Combined)

**Section:** 11-00000-11-RS

**Description:** HMA Paving - Robert McClory & North Shore Bike Paths

|  |                                     |                             |          |                     | % Over/Under     | \$ Over/Under Eng. |
|--|-------------------------------------|-----------------------------|----------|---------------------|------------------|--------------------|
| Bidder                                 | Address                             | City, State, Zip            | Bond     | Bid Price           | Eng. Estimate    | Estimate           |
| Chicagoland Paving,Inc.                | 225 Telser Road                     | Lake Zurich, IL 60047       | Bid Bond | \$57,700.00         | -18.86%          | -\$13,415.00       |
| Greg Greenhill Construction Co., Inc.* | 5419 Hayden Lane                    | Ringwood, IL 60072          | Bid Bond | \$62,046.00         | -12.75%          | -\$9,069.00        |
| J. A. Johnson Paving Company*          | 1025 E. Addison Court               | Arlington Heights, IL 60005 | Bid Bond | \$70,258.00         | -1.21%           | -\$857.00          |
| Peter Baker & Son Company*             | 1349 Rockland Road                  | Lake Bluff, IL 60044        | Bid Bond | \$72,171.00         | 1.48%            | \$1,056.00         |
| Schroeder Asphalt Service, Inc.*       | P.O. Box 831                        | Huntley, IL 60142           | Bid Bond | \$75,030.00         | 5.51%            | \$3,915.00         |
| Maneval Construction Co Inc.*          | 1015 North Corporate Circle Suite D | Grayslake, IL 60030         | Bid Bond | \$96,078.18         | 35.10%           | \$24,963.18        |
| Contract Award Limit                   |                                     |                             |          | \$60,000.00         |                  |                    |
| Engineer's Estimate                    |                                     |                             |          | \$71,115.00         |                  |                    |
|  |                                     |                             |          | *Bid Exceeds the Co | ontract Award Li | mit                |
| Design                                 | IDOT(2)                             | Contract Bidder             |          | MGB then Plan Rac   | k                |                    |
|  |                                     |                             |          |                     |                  |                    |
| Finance                                | Bid Tab File                        | Resident Eng.               |          | Administrative Assi | stant            |                    |
| Construction                           | Project File                        | Request By Mail             |          | Mgr Capital Program | mming            | _                  |
|  |                                     |                             |          |                     |                  |                    |
|  |                                     |                             |          |                     |                  |                    |
|  |                                     |                             |          |                     |                  |                    |



## **Return Bid Tabulation**

Project: 2011 Bike Path Re-Paving (Base Bid and Added Alternatives B & C Combined)

Section: 11-00000-11-RS

**Description:** HMA Paving - Robert McClory & North Shore Bike Paths

| Item No | . Pay Code Description                                | Quantity Unit | Eng Estimate |              | Chicagoland Paving,Inc. |              | J. A. Johnson Paving Company |              | Maneval Construction Co Inc. |              | Schroeder Asphalt Service, Inc. |              | Greg Greenhill Construction Co.,<br>Inc. |              | Peter Baker & Son Company |              |
|---------|---|---------------|--------------|--------------|-------------------------|--------------|------------------------------|--------------|------------------------------|--------------|---------------------------------|--------------|--|--------------|---------------------------|--------------|
|         |   |               | Unit Price   | Extnd. Price | Unit Price              | Extnd. Price | Unit Price                   | Extnd. Price | Unit Price                   | Extnd. Price | Unit Price                      | Extnd. Price | Unit Price                               | Extnd. Price | Unit Price                | Extnd. Price |
| 1       | 20200100 EARTH EXCAVATION                             | 43.00 CU YD   | \$60.00      | \$2,580.00   | \$50.00                 | \$2,150.00   | \$55.00                      | \$2,365.00   | \$70.74                      | \$3,041.82   | \$50.00                         | \$2,150.00   | \$55.00                                  | \$2,365.00   | \$185.00                  | \$7,955.00   |
| 2       | 35100100 AGGREGATE BASE COURSE, TYPE A                | 105.00 TON    | \$45.00      | \$4,725.00   | \$40.00                 | \$4,200.00   | \$60.00                      | \$6,300.00   | \$49.14                      | \$5,159.70   | \$40.00                         | \$4,200.00   | \$25.00                                  | \$2,625.00   | \$55.00                   | \$5,775.00   |
| 3       | 40603310 HOT-MIX ASPHALT SURFACE COURSE, MIX "C", N50 | 351.00 TON    | \$140.00     | \$49,140.00  | \$110.00                | \$38,610.00  | \$138.00                     | \$48,438.00  | \$175.00                     | \$61,425.00  | \$125.00                        | \$43,875.00  | \$93.00                                  | \$32,643.00  | \$107.00                  | \$37,557.00  |
| 4       | 42400800 DETECTABLE WARNINGS                          | 64.00 SQ FT   | \$30.00      | \$1,920.00   | \$35.00                 | \$2,240.00   | \$25.00                      | \$1,600.00   | \$38.94                      | \$2,492.16   | \$70.00                         | \$4,480.00   | \$27.00                                  | \$1,728.00   | \$25.00                   | \$1,600.00   |
| 5       | 70101700 TRAFFIC CONTROL AND PROTECTION               | 1.00 L SUM    | \$3,500.00   | \$3,500.00   | \$4,950.00              | \$4,950.00   | \$3,230.00                   | \$3,230.00   | \$16,800.00                  | \$16,800.00  | \$12,000.00                     | \$12,000.00  | \$14,360.00                              | \$14,360.00  | \$10,959.00               | \$10,959.00  |
| 6       | LC200470 SEEDING (COMPLETE)                           | 925.00 SQ YD  | \$10.00      | \$9,250.00   | \$6.00                  | \$5,550.00   | \$9.00                       | \$8,325.00   | \$7.74                       | \$7,159.50   | \$9.00                          | \$8,325.00   | \$9.00                                   | \$8,325.00   | \$9.00                    | \$8,325.00   |
|         | Bid Tota  | l             |              | \$71,115.00  |                         | \$57,700.00  |                              | \$70,258.00  |                              | \$96,078.18  |                                 | \$75,030.00  |  | \$62,046.00  |                           | \$72,171.00  |



## **Return Bid Details**

2011 Bike Path Re-Paving (Base Bid and Added

**Project:** Alternatives B & C Combined)

Section: 11-00000-11-RS

**Description:** HMA Paving - Robert McClory & North Shore Bike Paths

| Itam Na  | Pay Code | Description                                  | Quantity | Unit  | Eng Est    | imate        | Min Bid Brico    | Max. Bid Price   | Ava Pid Drico  |  |
|----------|----------|--|----------|-------|------------|--------------|------------------|------------------|----------------|--|
| Item No. | Pay Coue | Description                                  | Quantity | Oilit | Unit Price | Extnd. Price | Willi. Blu Price | IVIAX. BIU PIICE | Avg. Dia Frice |  |
|          |          |  |          |       |            |              |                  |                  |                |  |
| 1        | 20200100 | EARTH EXCAVATION                             | 43.00    | CU YD | \$60.00    | \$2,580.00   | \$50.00          | \$185.00         | \$77.62        |  |
| 2        | 35100100 | AGGREGATE BASE COURSE, TYPE A                | 105.00   | TON   | \$45.00    | \$4,725.00   | \$25.00          | \$60.00          | \$44.86        |  |
| 3        | 40603310 | HOT-MIX ASPHALT SURFACE COURSE, MIX "C", N50 | 351.00   | TON   | \$140.00   | \$49,140.00  | \$93.00          | \$175.00         | \$124.67       |  |
| 4        | 42400800 | DETECTABLE WARNINGS                          | 64.00    | SQ FT | \$30.00    | \$1,920.00   | \$25.00          | \$70.00          | \$36.82        |  |
| 5        | 70101700 | TRAFFIC CONTROL AND PROTECTION               | 1.00     | LSUM  | \$3,500.00 | \$3,500.00   | \$3,230.00       | \$16,800.00      | \$10,383.17    |  |
| 6        | LC200470 | SEEDING (COMPLETE)                           | 925.00   | SQ YD | \$10.00    | \$9,250.00   | \$6.00           | \$9.00           | \$8.29         |  |
|          |          | Bid Total                                    |          |       |            | \$71,115.00  |                  |                  |                |  |



## **Return Bid Tabulation**

Project: 2011 Bike Path Re-Paving (Base Bid & Individual Added Alternative Bids)

Added Alternative Bids
Section: 11-00000-11-RS

Description: HMA Paving - Robert McClory & North Shore Bike Paths

| Item No.            | Pay Code                             | Description                                     | Quantity | Unit    | Eng Esti            | mate         | Chicagoland           | Paving,Inc.  | J. A. Johnson Pa | ving Company  | Maneval Const | ruction Co Inc. | Schroeder Asph | alt Service, Inc. | Greg Greenhill Co | onstruction Co., | Peter Baker & | Son Company  |
|---------------------|--------------------------------------|---|----------|---------|---------------------|--------------|-----------------------|--------------|------------------|---------------|---------------|-----------------|----------------|-------------------|-------------------|------------------|---------------|--------------|
|                     |                                      |   |          |         | Unit Price          | Extnd. Price | Unit Price            | Extnd. Price | Unit Price       | Extnd. Price  | Unit Price    | Extnd. Price    | Unit Price     | Extnd. Price      | Unit Price        | Extnd. Price     | Unit Price    | Extnd. Price |
|                     |                                      |   |          |         |                     |              |                       | BASE B       | ID               |               |               |                 |                |                   |                   |                  |               |              |
| 1                   | 20200100                             | EARTH EXCAVATION                                | 38.00    | CU YD   | \$60.00             | \$2,280.00   | \$50.00               | \$1,900.00   | \$55.00          | \$2,090.00    | \$55.00       | \$2,090.00      | \$55.00        | \$2,090.00        | \$55.00           | \$2,090.00       | \$55.00       | \$2,090.00   |
| 2                   | 35100100 /                           | AGGREGATE BASE COURSE, TYPE A                   | 105.00   | TON     | \$45.00             | \$4,725.00   | \$40.00               | \$4,200.00   | \$25.00          | \$2,625.00    | \$25.00       | \$2,625.00      | \$25.00        | \$2,625.00        | \$25.00           | \$2,625.00       | \$25.00       | \$2,625.00   |
| 3                   | 40603310                             | HOT-MIX ASPHALT SURFACE COURSE, MIX<br>"C", N50 | 328.00   | TON     | \$140.00            | \$45,920.00  | \$110.00              | \$36,080.00  | \$93.00          | \$30,504.00   | \$93.00       | \$30,504.00     | \$93.00        | \$30,504.00       | \$93.00           | \$30,504.00      | \$93.00       | \$30,504.00  |
| 4                   | 42400800 I                           | DETECTABLE WARNINGS                             | 64.00    | SQ FT   | \$30.00             | \$1,920.00   | \$35.00               | \$2,240.00   | \$27.00          | \$1,728.00    | \$27.00       | \$1,728.00      | \$27.00        | \$1,728.00        | \$27.00           | \$1,728.00       | \$27.00       | \$1,728.00   |
| 5                   | 70101700                             | TRAFFIC CONTROL AND PROTECTION                  | 1.00     | L SUM   | \$2,500.00          | \$2,500.00   | \$2,302.00            | \$2,302.00   | \$5,400.00       | \$5,400.00    | \$5,400.00    | \$5,400.00      | \$5,400.00     | \$5,400.00        | \$5,400.00        | \$5,400.00       | \$5,400.00    | \$5,400.00   |
| 6                   | LC200470 S                           | SEEDING (COMPLETE)                              | 863.00   | SQ YD   | \$10.00             | \$8,630.00   | \$6.00                | \$5,178.00   | \$9.00           | \$7,767.00    | \$9.00        | \$7,767.00      | \$9.00         | \$7,767.00        | \$9.00            | \$7,767.00       | \$9.00        | \$7,767.00   |
|                     |                                      |   |          |         | Base Bid Total      | \$65,975.00  |                       | \$51,900.00  |                  | \$50,114.00   |               | \$50,114.00     |                | \$50,114.00       |                   | \$50,114.00      |               | \$50,114.00  |
| ADDED ALTERNATIVE A |                                      |   |          |         |                     |              |                       |              |                  |               |               |                 |                |                   |                   |                  |               |              |
| 7                   | 20200100                             | EARTH EXCAVATION                                | 12.00    | CU YD   | \$60.00             | \$720.00     | \$50.00               | \$600.00     | \$55.00          | \$660.00      | \$55.00       | \$660.00        | \$55.00        | \$660.00          | \$55.00           | \$660.00         | \$55.00       | \$660.00     |
| 8                   | 35100100 A                           | AGGREGATE BASE COURSE, TYPE A                   | 0.00     | TON     | \$45.00             | \$0.00       | \$40.00               | \$0.00       | \$25.00          | \$0.00        | \$25.00       | \$0.00          | \$25.00        | \$0.00            | \$25.00           | \$0.00           | \$25.00       | \$0.00       |
| 9                   | 40603310                             | HOT-MIX ASPHALT SURFACE COURSE, MIX<br>"C", N50 | 50.00    | TON     | \$140.00            | \$7,000.00   | \$110.00              | \$5,500.00   | \$93.00          | \$4,650.00    | \$93.00       | \$4,650.00      | \$93.00        | \$4,650.00        | \$93.00           | \$4,650.00       | \$93.00       | \$4,650.00   |
| 10                  | 42400800 I                           | DETECTABLE WARNINGS                             | 40.00    | SQ FT   | \$30.00             | \$1,200.00   | \$35.00               | \$1,400.00   | \$27.00          | \$1,080.00    | \$27.00       | \$1,080.00      | \$27.00        | \$1,080.00        | \$27.00           | \$1,080.00       | \$27.00       | \$1,080.00   |
| 11                  | 70101700                             | TRAFFIC CONTROL AND PROTECTION                  | 1.00     | L SUM   | \$500.00            | \$500.00     | \$1,626.00            | \$1,626.00   | \$3,650.00       | \$3,650.00    | \$3,650.00    | \$3,650.00      | \$3,650.00     | \$3,650.00        | \$3,650.00        | \$3,650.00       | \$3,650.00    | \$3,650.00   |
| 12                  | LC200470 S                           | SEEDING (COMPLETE)                              | 129.00   | SQ YD   | \$10.00             | \$1,290.00   | \$6.00                | \$774.00     | \$9.00           | \$1,161.00    | \$9.00        | \$1,161.00      | \$9.00         | \$1,161.00        | \$9.00            | \$1,161.00       | \$9.00        | \$1,161.00   |
|                     |                                      |   |          | Added A | Alternative A Total | \$10,710.00  |                       | \$9,900.00   |                  | \$11,201.00   |               | \$11,201.00     |                | \$11,201.00       |                   | \$11,201.00      |               | \$11,201.00  |
|                     |                                      |   |          |         |                     |              | AD                    | DED ALTERI   | NATIVE B         |               |               |                 |                |                   |                   |                  |               |              |
| 13                  | 20200100                             | EARTH EXCAVATION                                | 5.00     | CU YD   | \$60.00             | \$300.00     | \$50.00               | \$250.00     | \$55.00          | \$275.00      | \$55.00       | \$275.00        | \$55.00        | \$275.00          | \$55.00           | \$275.00         | \$55.00       | \$275.00     |
| 14                  | 35100100 A                           | AGGREGATE BASE COURSE, TYPE A                   | 0.00     | TON     | \$45.00             | \$0.00       | \$40.00               | \$0.00       | \$25.00          | \$0.00        | \$25.00       | \$0.00          | \$25.00        | \$0.00            | \$25.00           | \$0.00           | \$25.00       | \$0.00       |
| 15                  | 40603310                             | HOT-MIX ASPHALT SURFACE COURSE, MIX<br>'C", N50 | 20.00    | TON     | \$140.00            | \$2,800.00   | \$110.00              | \$2,200.00   | \$93.00          | \$1,860.00    | \$93.00       | \$1,860.00      | \$93.00        | \$1,860.00        | \$93.00           | \$1,860.00       | \$93.00       | \$1,860.00   |
| 16                  | 42400800 [                           | DETECTABLE WARNINGS                             | 0.00     | SQ FT   | \$30.00             | \$0.00       | \$35.00               | \$0.00       | \$27.00          | \$0.00        | \$27.00       | \$0.00          | \$27.00        | \$0.00            | \$27.00           | \$0.00           | \$27.00       | \$0.00       |
| 17                  | 70101700                             | TRAFFIC CONTROL AND PROTECTION                  | 1.00     | L SUM   | \$500.00            | \$500.00     | \$1,132.00            | \$1,132.00   | \$4,460.00       | \$4,460.00    | \$4,460.00    | \$4,460.00      | \$4,460.00     | \$4,460.00        | \$4,460.00        | \$4,460.00       | \$4,460.00    | \$4,460.00   |
| 18                  | LC200470 S                           | SEEDING (COMPLETE)                              | 53.00    | SQ YD   | \$10.00             | \$530.00     | \$6.00                | \$318.00     | \$9.00           | \$477.00      | \$9.00        | \$477.00        | \$9.00         | \$477.00          | \$9.00            | \$477.00         | \$9.00        | \$477.00     |
|                     | Added Alternative B Total \$4,130.00 |   |          |         | \$4,130.00          |              | \$3,900.00 \$7,072.00 |              |                  | 00 \$7,072.00 |               |                 | \$7,072.00     |                   | 90 \$7,072.00     |                  | \$7,072.00    |              |



## **Return Bid Tabulation**

Project: 2011 Bike Path Re-Paving (Base Bid & Individual Added Alternative Bids)

Added Alternative Bids)
Section: 11-00000-11-RS

Description: HMA Paving - Robert McClory & North Shore Bike Paths

| Item No | p. Pay Code Description                               | Quantity Unit | Eng Estimate  Jnit    |              | Chicagoland Paving,Inc. |              | J. A. Johnson Paving Company |              | Maneval Construction Co Inc. |              | Schroeder Asphalt Service, Inc. |              | Greg Greenhill Construction Co.,<br>Inc. |              | Peter Baker & Son Company |              |
|---------|---|---------------|-----------------------|--------------|-------------------------|--------------|------------------------------|--------------|------------------------------|--------------|---------------------------------|--------------|--|--------------|---------------------------|--------------|
|         |   |               | Unit Price            | Extnd. Price | Unit Price              | Extnd. Price | Unit Price                   | Extnd. Price | Unit Price                   | Extnd. Price | Unit Price                      | Extnd. Price | Unit Price                               | Extnd. Price | Unit Price                | Extnd. Price |
|         | ADDED ALTERNATIVE C                                   |               |                       |              |                         |              |                              |              |                              |              |                                 |              |  |              |                           |              |
| 19      | 20200100 EARTH EXCAVATION                             | 0.00 CU YD    | \$60.00               | \$0.00       | \$50.00                 | \$0.00       | \$55.00                      | \$0.00       | \$55.00                      | \$0.00       | \$55.00                         | \$0.00       | \$55.00                                  | \$0.00       | \$55.00                   | \$0.00       |
| 20      | 35100100 AGGREGATE BASE COURSE, TYPE A                | 0.00 TON      | \$45.00               | \$0.00       | \$40.00                 | \$0.00       | \$25.00                      | \$0.00       | \$25.00                      | \$0.00       | \$25.00                         | \$0.00       | \$25.00                                  | \$0.00       | \$25.00                   | \$0.00       |
| 21      | 40603310 HOT-MIX ASPHALT SURFACE COURSE, MIX "C", N50 | 3.00 TON      | \$140.00              | \$420.00     | \$110.00                | \$330.00     | \$93.00                      | \$279.00     | \$93.00                      | \$279.00     | \$93.00                         | \$279.00     | \$93.00                                  | \$279.00     | \$93.00                   | \$279.00     |
| 22      | 42400800 DETECTABLE WARNINGS                          | 0.00 SQ FT    | \$30.00               | \$0.00       | \$35.00                 | \$0.00       | \$27.00                      | \$0.00       | \$27.00                      | \$0.00       | \$27.00                         | \$0.00       | \$27.00                                  | \$0.00       | \$27.00                   | \$0.00       |
| 23      | 70101700 TRAFFIC CONTROL AND PROTECTION               | 1.00 L SUM    | \$500.00              | \$500.00     | \$1,516.00              | \$1,516.00   | \$4,500.00                   | \$4,500.00   | \$4,500.00                   | \$4,500.00   | \$4,500.00                      | \$4,500.00   | \$4,500.00                               | \$4,500.00   | \$4,500.00                | \$4,500.00   |
| 24      | LC200470 SEEDING (COMPLETE) 9.00 SQ YD                |               | \$10.00               | \$90.00      | \$6.00                  | \$54.00      | \$9.00                       | \$81.00      | \$9.00                       | \$81.00      | \$9.00                          | \$81.00      | \$9.00                                   | \$81.00      | \$9.00                    | \$81.00      |
|         |   | Adde          | d Alternative C Total | \$1,010.00   |                         | \$1,900.00   |                              | \$4,860.00   |                              | \$4,860.00   |                                 | \$4,860.00   |  | \$4,860.00   |                           | \$4,860.00   |
|         | Bid Tota  | I             |                       | \$81,825.00  |                         | \$67,600.00  |                              | \$73,247.00  |                              | \$73,247.00  |                                 | \$73,247.00  |  | \$73,247.00  |                           | \$73,247.00  |



## **Return Bid Details**

Project: 2011 Bike Path Re-Paving (Base Bid & Individual Added Alternative Bids)

**Section:** 11-00000-11-RS

**Description:** HMA Paving - Robert McClory & North Shore Bike Paths

| Item No.   | Pay Code | Description                                  | Quantity     | Unit        | Eng Est    | imate        | Min. Bid Price   | Max. Bid Price   | Avg. Bid Price |
|------------|----------|--|--------------|-------------|------------|--------------|------------------|------------------|----------------|
| itelli No. | ray code | Description                                  | Qualitity    | Oilit       | Unit Price | Extnd. Price | Willi. Blu Frice | IVIAX. DIG FIICE | Avg. Blu Frice |
|            |          |  | BAS          | SE BID      |            |              |                  |                  |                |
| 1          | 20200100 | EARTH EXCAVATION                             | 38.00        | CU YD       | \$60.00    | \$2,280.00   | \$50.00          | \$55.00          | \$54.17        |
| 2          | 35100100 | AGGREGATE BASE COURSE, TYPE A                | 105.00       | TON         | \$45.00    | \$4,725.00   | \$25.00          | \$40.00          | \$27.50        |
| 3          | 40603310 | HOT-MIX ASPHALT SURFACE COURSE, MIX "C", N50 | 328.00       | TON         | \$140.00   | \$45,920.00  | \$93.00          | \$110.00         | \$95.83        |
| 4          | 42400800 | DETECTABLE WARNINGS                          | 64.00        | SQ FT       | \$30.00    | \$1,920.00   | \$27.00          | \$35.00          | \$28.33        |
| 5          | 70101700 | TRAFFIC CONTROL AND PROTECTION               | 1.00         | L SUM       | \$2,500.00 | \$2,500.00   | \$1,132.00       | \$5,400.00       | \$4,026.08     |
| 6          | LC200470 | SEEDING (COMPLETE)                           | 863          | SQ YD       | \$10.00    | \$8,630.00   | \$6.00           | \$9.00           | \$8.50         |
|            |          |  | Base         | e Bid Total |            | \$65,975.00  |                  |                  |                |
|            |          | ADD  | ED AL        | TERNA       | TIVE A     |              |                  |                  |                |
| 7          | 20200100 | EARTH EXCAVATION                             | 12.00        | CU YD       | \$60.00    | \$720.00     | \$50.00          | \$55.00          | \$54.17        |
| 8          | 35100100 | AGGREGATE BASE COURSE, TYPE A                | 0.00         | TON         | \$45.00    | \$0.00       | \$25.00          | \$40.00          | \$27.50        |
| 9          | 40603310 | HOT-MIX ASPHALT SURFACE COURSE, MIX "C", N50 | 50.00        | TON         | \$140.00   | \$7,000.00   | \$93.00          | \$110.00         | \$95.83        |
| 10         | 42400800 | DETECTABLE WARNINGS                          | 40.00        | SQ FT       | \$30.00    | \$1,200.00   | \$27.00          | \$35.00          | \$28.33        |
| 11         | 70101700 | TRAFFIC CONTROL AND PROTECTION               | 1.00         | LSUM        | \$500.00   | \$500.00     | \$1,132.00       | \$5,400.00       | \$4,026.08     |
| 12         | LC200470 | SEEDING (COMPLETE)                           | 129.00       | SQ YD       | \$10.00    | \$1,290.00   | \$6.00           | \$9.00           | \$8.50         |
|            |          | Adde   | ed Alternati | ve A Total  |            | \$10,710.00  |                  |                  |                |



## **Return Bid Details**

Project: 2011 Bike Path Re-Paving (Base Bid & Individual Added Alternative Bids)

Added Alternative Bids
Section: 11-00000-11-RS

**Description:** HMA Paving - Robert McClory & North Shore Bike Paths

| Item No.   | Pay Code            | Description                                  | Quantity    | Unit        | Eng Est    | imate        | Min. Bid Price    | Max. Bid Price   | Avg. Bid Price |  |  |  |  |  |  |
|------------|---------------------|--|-------------|-------------|------------|--------------|-------------------|------------------|----------------|--|--|--|--|--|--|
| iteili No. | Pay Code            | Description                                  | Quantity    | Oilit       | Unit Price | Extnd. Price | iviiii. Biu Price | IVIAX. BIU PIICE | Avg. Blu Price |  |  |  |  |  |  |
|            | ADDED ALTERNATIVE B |  |             |             |            |              |                   |                  |                |  |  |  |  |  |  |
| 13         | 20200100            | EARTH EXCAVATION                             | 5.00        | CU YD       | \$60.00    | \$300.00     | \$50.00           | \$55.00          | \$54.17        |  |  |  |  |  |  |
| 14         | 35100100            | AGGREGATE BASE COURSE, TYPE A                | 0.00        | TON         | \$45.00    | \$0.00       | \$25.00           | \$40.00          | \$27.50        |  |  |  |  |  |  |
| 15         | 40603310            | HOT-MIX ASPHALT SURFACE COURSE, MIX "C", N50 | 20.00       | TON         | \$140.00   | \$2,800.00   | \$93.00           | \$110.00         | \$95.83        |  |  |  |  |  |  |
| 16         | 42400800            | DETECTABLE WARNINGS                          | 0.00        | SQ FT       | \$30.00    | \$0.00       | \$27.00           | \$35.00          | \$28.33        |  |  |  |  |  |  |
| 17         | 70101700            | TRAFFIC CONTROL AND PROTECTION               | 1.00        | L SUM       | \$500.00   | \$500.00     | \$1,132.00        | \$5,400.00       | \$4,026.08     |  |  |  |  |  |  |
| 18         | LC200470            | SEEDING (COMPLETE)                           | 53          | SQ YD       | \$10.00    | \$530.00     | \$6.00            | \$9.00           | \$8.50         |  |  |  |  |  |  |
|            |                     | Add  | ed Alternat | ive B Total |            | \$4,130.00   |                   |                  |                |  |  |  |  |  |  |
|            |                     | ADD  | ED AL       | TERNA       | TIVE C     |              |                   |                  |                |  |  |  |  |  |  |
| 19         | 20200100            | EARTH EXCAVATION                             | 0.00        | CU YD       | \$60.00    | \$0.00       | \$50.00           | \$55.00          | \$54.17        |  |  |  |  |  |  |
| 20         | 35100100            | AGGREGATE BASE COURSE, TYPE A                | 0.00        | TON         | \$45.00    | \$0.00       | \$25.00           | \$40.00          | \$27.50        |  |  |  |  |  |  |
| 21         | 40603310            | HOT-MIX ASPHALT SURFACE COURSE, MIX "C", N50 | 3.00        | TON         | \$140.00   | \$420.00     | \$93.00           | \$110.00         | \$95.83        |  |  |  |  |  |  |
| 22         | 42400800            | DETECTABLE WARNINGS                          | 0.00        | SQ FT       | \$30.00    | \$0.00       | \$27.00           | \$35.00          | \$28.33        |  |  |  |  |  |  |
| 23         | 70101700            | TRAFFIC CONTROL AND PROTECTION               | 1.00        | L SUM       | \$500.00   | \$500.00     | \$1,132.00        | \$5,400.00       | \$4,026.08     |  |  |  |  |  |  |
| 24         | LC200470            | SEEDING (COMPLETE)                           | 9.00        | SQ YD       | \$10.00    | \$90.00      | •                 | \$9.00           | \$8.50         |  |  |  |  |  |  |
|            |                     | Add  | ed Alternat | ive C Total |            | \$1,010.00   |                   |                  |                |  |  |  |  |  |  |
|            |                     | Bid Total                                    |             |             |            | \$81,825.00  |                   |                  |                |  |  |  |  |  |  |